P-1 (1+1+1) G /20 (N)
2020
GEOGRAPHY (General)
Paper Code : I1 - A & B
(Climatology & Bio-Geography)
[New Syllabus]

Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).
Subject Code : Il |A|& |B

Subject Name :

¢ Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is “CORRECT” answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, then write :
1. — A

® There is no negative marking for wrong answer.
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Paper Code : II - A
Full Marks : 15 Time
Choose the correct answer.

Each question carries 1 mark.

1. The lowest temperature of atmosphere is —

(A) — 75°C
B) — 72°C
(C) — 80°C

(D) None of these

> | #JfRER ARNSTER AT Sl —
(A) —ae°® (.
(B) —ax° @
(C) —vo° (.
(D) T (DR 7
2. Which is the main culprits of ozone layer destruction?
(A) CFCs

(B) Oxygen
(C) Carbon dioxide

(D) None of these

3| O (@I 0T STE WR-F R G A2
(A) CECs
(B) wifsie
(C) I T2 sz
(D) T (DB 77

: Thirty Minutes
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3. Which gas is known as green house gas?
(A) Oxygen
(B) Carbon dioxide
(C) Hydrogen
(D) Nitrogen
o | e @I 0 8w =S e |ies AAfibe 2
(A) =S
(B) I T w3izT
(C) 2iErgIte=
(D) ZCGTE=
4. The ‘Normal Lapse Rate’ of the earth’s atmosphere is —
(A) 5.0°C per 1000 m
(B) 6.5°C per 1000 m
(C) 6.0°C per 1000 m
(D) None of these

8 | #JfeS AgNGER et #1915 (Normal Lapse Rate) —
(A) ¢.0° (. &fe sooo .
(B) v.¢° (. gfe Sooo fi.
(C) v.0° (A. &fe sooo fil.
(D) Ttz (FICAIDE =

5. The name of the lowest layer of earth’s atmosphere —
(A) Mesosphere
(B) Exosphere
(C) Stratosphere

(D) Troposphere
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@ | ST ISR T BT AN —
(A) TCAIFEFIR
(B) @i
(C) >oreoiFeraE
(D) @It
6. Air pressure is measured by —
(A) Anemometer
(B) Planimeter
(C) Barometer
(D) Hygrometer
Y| AR AP JCFS SN —
(A) SfNCNGE
(B) #ffmrE
(C) ARG
(D) ziErenfidE
7. Monsoons are —
(A) Seasonal wind
(B) Westerly wind
(C) Permanent wind
(D) Temporary wind
A1 PR Y wACe —
(A) s A
(B) AR AR
(C) 7 <y
(D) orEH <
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8. Mediterranean type of climate is indicated by the Koppen’s symbol —
(A) CW
(B) Aq
© C;
D) G
b | RGN (@A TORPIE RPN Sora -7 2T —
A) CW
(B) Aq
© G
D) Cg
9. Which of the following is the prime basis of Koppen’s climatic classification?
(A) Cloudiness and Winds
(B) Temperature and Winds

(C) Temperature and Precipitation
(D) Precipitation and Natural Vegetation

5| [T @D (@A SRR (@ARele-ax daE fofer
(A) CTIPRTST € AR
(B) Sl7EI@l @ PR
(C) SloIal @ JHeTm=iol
(D) Sl & I

10. The standard air pressure at the sea level is —
(A) 1008 Milibar
(B) 1013.25 Milibar
(C) 1002 Milibar

(D) 998 Milibar
Page : 6 of 11



S0 | FE 7Ty (%) S ARBICAT Al —
(A) Soob filferdld
(B) sove.x¢ fiferE
(C) soox ffer™
(D) sv e

11. Doldrums Belt is the region of —
(A) Low pressure and clam condition
(B) High pressure and strong winds

(C) Moderate pressure
(D) None of the above
S| (OGN I6T3 Al SIEHAT G (T AP T ©f To —
(A) 75 Pl a3k 9 agfeq
(B) T IPIRE GR 2ET IRERILIE
(C) T IS
(D) Tt (PICAIGE AT 7
12. Which of the following is not related to formation of soil?
(A) Climate
(B) Parent rock
(C) Time
(D) Construction works

>3 | fes (I Soimiais Sfewrs a1t wfte w3

(A) ST
(B) =i frer
(C)

(D) fesfiel prfi<ett
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13. Generally in which type of soil standard soil horizon is seen?
(A) Charnozem soil
(B) Loess soil
(C) Alluvial soil
(D) Bog soil

S0 | RS (FIN o e ol e wa Al 271z (vl A" —

(A) BRSS!
(B) (eTize fest
(C) et et
(D) <1 Jfet
14. World’s largest mangrove forest is situated in —
(A) Kagiranga
(B) Medinipur
(C) Sundarban
(D) Jalpaiguri
58 | RS AR WiAcare wEel eRtEe —
(A) e
B) cifarsfs
(C) e
(D) TA2efE
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15. Which of the following is an example of Indian local wind blowing during
summer season?

(A) Khamsin
(B) Loo
(C) Taku
(D) Mistral
se| e @I SEite d7ifge 3 SRel Z=w AT SwigRel 7
(A) AR
B)

(C) B
(D) 3w
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P-1 (1+1+1) G /20 (N)
2020
GEOGRAPHY (General)

Paper Code : II - B
(Climatology & Bio-Geography)
[New Syllabus]

Full Marks : 35 Time : One Hour Thirty Minutes

The figures in the margin indicate full marks.

Section - 1

Answer any fwo questions. 10x2=20

1. Write down in details with suitable diagram about the pressure belts of the earth.
10

2. Discuss the characteristics of any two atmospheric layers over the earth surface.
Distinguish between the concept of weather and climate. 6+4=10

3. Explain in elaborative way about the factors responsible for soil formation, with

appropriate illustration. 10

4. Write notes on insolation and heat budget. 5+5=10
Section - IT

Answer any three questions. 5x3=15

5. What are the impacts of ‘green house effect’ in present world? 5

6. Write a short note on xerophytes. 5

7. Write down the characteristic features of North-Eastern Monsoon of India. 5

8. Shortly discuss the causes and consequences of soil erosion, with suitable
examples. 5
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9. Shortly analysis any two layers of an ideal soil horizon. 5

10. Distinguish between evaporation and condensation. 5
IR
et - &
@ (A ¥ e Ted Al |
S| Coye iz RS ARpIel el [Rewd we | so
2| FJfASE ATV @ @A 9 w993 Giffas @R e Sicesa
T4 | SRTAR] 8 SRRIEAT AL fehei 9 | v+8=30

o | &I I AZTFA Tomiaaler siE Sz [wifrs Fjram wis | S0

8| FAGNE™ (Insolation) @<k ‘725 AT (Heat Budget) FItF BIFfl (7141 So
fqomt - 4
@ e foafb eitaw Tex wis |

@ | TEA AT ACCF fa 218 @eFs (Green House Effect)-9ad doRafs

IRCFCA (T4 | €
Y| ‘CTRARRS” (Xerophytes) it 7= Bl (14 | ¢
q| SlACed Ted-5F TP A (North-Eastern Monsoon of India) vifafas

Rt s ARFEFY S0 @
b | CHYE SUIRATR GF] TERF PR € Felrerfer FCHCH (519 | @

> @6 o Jfes AReTd-97 @ (Il 76 BH-97 T0E [owzd w91 ¢

So | FRCHC I (Evaporation) € Tted« (Condensation)-4ad << fgmstef
491 @
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